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Additional Earnings
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TIPS...
It is common for people in 
service industry jobs to earn 
tips from satisfied customers.

NOTE:  a sign of appreciation
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extra pay earned when certain 
conditions of employment

 have been met or exceeded

Bonus
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Shift Premium
extra payment

 for 
non­standard
 work hours

Employees who have the majority of their scheduled 
work hours between 6 pm and 6 am 
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Other Incentives...
­ danger pay 
­ isolation pay
­ northern allowance
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5% of tip 5 people

$2100 x 0.05
$105

$105 
    5
$21

TIPS? 
Share... 

EX #1:
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EXAMPLE #2:   
Wendy has a summer job working as a waitress.  She earns $10.50 /hr 
plus tips.  Calculate her gross pay if she worked 48 hours one week and 
kept 85 % of her $234.50 in tips.  She receives time and one half for 
hours worked beyond 40.

Reg Pay : 

$  10.50
   x    40 hr

$420 

Overtime Pay : 

($10.50 x 1.5) 
   x          8 hr

$126 

Tips : 

    $234.50
   x    0.85 

$199.33 

Gross Pay =  Reg Pay  + Overtime Pay + Tips

= $420  + $126 + $199.33

= $420  + $126 + $199.33

= $745.33
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tips
$2500 x 0.10

$250

tips / hour
$250
    4
$62.5

wages + tips / hour
$62.5 + $10.00

$72.5
Tips? 

Tips/hr 

Hourly Wages? 

Example #3...
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Reward Cards
27 x $30
$810

10% Bonus
$810 x 0.10

$81

Monthly Wages

$1883.77 + $81

$1964.77 

EXAMPLE #4...
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$12.00 $12.00 x 1.5 = $18.00
Overtime:Regular time: Regular time + premium:

$12.00 + 2 = $14.00
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Overtime:Regular time:
$12.00 $12.00 x 1.5 = $18.00

12 am
1 am
2 am
3 am
4 am
5 am
6 am
7 am
8 am

12 am
1 am
2 am
3 am
4 am
5 am
6 am
7 am
8 am

4 pm
5 pm
6 pm
7 pm
8 pm
9 pm
10 pm
11 pm
12 am

6 am
7 am
8 am
9 am
10 am
11 am

6 am
7 am
8 am
9 am
10 am
11 am

8 am
9 am
10 am
11 am
12 pm
1 pm
2 pm
3 pm

Regular time + premium:
$12.00 + 2 = $14.00

Total # of hours = 41 hours

Premium Hours = 27 hours
  Regular Hours = 14 hours

Overtime:
 41
­35
   6

regular paid hours
total # earnings

Formula:

Regular Paid Hours:
14 ­ 6
    8

Premium Hours: 27 hours x $14.00 = $378
  Regular Hours:  8 hours x $12.00 =     96
Overtime Hours:  6 hours x $18.00 =   108
                                                      $582

 96 
582
0.16
16%
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HOMEWORK...
Check out pages 76 and 77

questions 1 ­ 7
2.3 Build Your Skills Detailed Solutions.pdf
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Attachments

2.3 Build Your Skills Detailed Solutions.pdf




Section 2.3 Additional Earnings, Build Your Skills, p108–109 


Student Resource, p76–77 


 


Build Your Skills 


 


1. a) Calculate annual danger pay. 


$1900.00 × 12 = $22 800.00 


Add annual salary and danger pay. 


$52 250.00 + $22 800.00 = $74 050.00 


Julia’s annual salary will be $74 050.00. 


b) Divide the total by 12 to find the monthly amount. 


$74 050.00 ÷ 12 = $6170.83 


Julia’s monthly salary will be $6170.83. 


 


2. Calculate 1% of the total tips. 


$760.00 × 0.01 = $7.60 


David’s share of the tips will be $7.60. 


 


3. Calculate Tristan’s wages for 4 weeks. 


$10.00/h × 5 h = $50.00 


$50.00 × 16 days = $800.00 


Calculate the tips he expects to earn in 4 weeks. 


$650.00 × 0.15 = $97.50 


$97.50 × 16 days = $1560.00 


$800.00 + $1560.00 = $2360.00 


Tristan will earn about $2360.00 in 4 weeks. 


 


4. a) Let x = number of hours worked 


Let y = number of workers per shift 


Let z = amount of tips 


x ($10.00/h) + 
 


 
 = Layla’s gross earnings 


b) 6 ($10.00) + 
      


 
 = $77.87 


No, Layla is incorrect. She earned $77.87, not $79.13, during this shift. 


 


5. First, calculate 15% of $42 000.00 to find the bonus amount. 


$42 000.00 × 0.15 = $6300.00 


His bonus is $6300.00. 


Add the base salary and the bonus to get the total salary. 


$42 000.00 + $6300.00 = $48 300.00 


Ivan’s total salary will be $48 300.00. 


 


6. Calculate the annual isolation allowance. 


$41 610.52 – $38 901.76 = $2708.76 


Divide the annual isolation allowance by 12 to get the monthly amount. 


$2708.76 ÷ 12 = $225.73 


Francis’s monthly isolation allowance is $225.73. 


 







7. a) Find the number of hours in Jamila’s shift that are eligible for a shift premium. 


11 − 5 = 6 h 


Jamila will earn the shift period for 6 hours of her shift. 


b) Method 1 


Calculate Jamila’s regular pay for the shift. 


$17.36/h × 8 h = $138.88 


Calculate the amount of the shift premium. 


$2.00/h × 6 h = $12.00 


Add the two amounts. 


$138.88 + $12.00 = $150.88 


Jamila will earn $150.88 for her shift. 


Method 2 


Calculate her regular pay. 


$17.36/h × 2 h = $34.72 


Calculate her shift premium pay. 


$19.36/h × 6 h = $116.16 


Add the two amounts. 


$34.72 + $116.16 = $150.88 


Rishma will earn $150.88 for her shift. 


c) Calculate her earnings at the shift premium rate. 


6 h × 5 × $19.36/h = $508.80 


Then calculate her total earnings for the week. 


($17.36/h × 10 h) + $508.80 = $682.40 


Divide her shift premium amount by her total earnings. 


$508.80 ÷ $682.40 = 0.746 


75% of her weekly wage is at the shift premium. 


d) Divide her weekly hours at the regular rate by her total weekly hours. 


10 ÷ 40 = 0.25 


25% of her weekly schedule is regular hours. 


 


Extend Your Thinking 


 


8. a) To find Rosa’s mileage allowance, multiply the number of kilometres she drove by the 


rate paid for one kilometre. 


536 km × $0.605/km = $324.28 


Rosa will be paid $324.28 for the trip. 


b) Answers will vary but students may consider the following factors: the costs of fuel, 


insurance, and repair and maintenance costs such as oil changes and tune-ups. In most 


situations, this mileage allowance would probably be considered fair, although some students 


may consider that too much wear and tear on a personal vehicle might make the 


compensation level seem too low. 
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